

Division of Purchasing

Jason T. Garnar, County Executive · Tyler B. West, Director

Notice of Bid Award

April 11, 2018

Whom It May Concern,

This shall advise you that on April 11, 2018, the Board of Acquisition and Contract approved the following:

Bid Title: Purchase of Lumber and Building Supplies

Bid #: 2018-007 CA #: 2043a

Term: 04/01/2018 - 03/31/2019 - Two (2) optional one-year renewals through 03/31/2021

Amount: Per Attached

Purchase order(s) will be forthcoming upon receipt of a certificate of insurance in compliance with the insurance requirements as stated in the specifications. **Incorrect insurance certificates will cause delays in payment.**

If you have not submitted the proper insurance certificate, please send a copy to Thomas Dellapenna, Risk Manager, Broome County Office of Risk Management, County Office Building, 3rd Floor, 60 Hawley Street, P.O. Box 1766, Binghamton, NY 13902-1766. Phone: (607) 778-2402 Fax #: (607) 778-6009 IMPORTANT: Please include the bid title and bid number on the insurance certificate.

Very truly yours,

Tyler West Director

cc: Harry Miller, DPW-B&G Jeanne Bourque, Risk Purchasing, Bid File

Awarded Vendors

Belknap Lumber, Inc. 7 Belknap Ave Binghamton, NY 13905 Attn: Jim Willerton Phone: 607-729-1583

Fax: 607-729-0135

E-mail: JimWillerton@gmail.com

Core Building Materials 233 N. Jensen Rd. Vestal, NY 13850 Attn: Chris Wood

Phone: 607-729-6233 Fax: 607-798-1410

E-mail: Chris@corebuildingmaterials.com

GROUP A

BELKNAP LUMBER CORE BUILDING

					LUMBER				BUILDING	
Item #	Description	Unit Listed on Bid	Belknap Bid Unit	Est. Annual Quantity	Unit Price	Total	Core Bid Unit	Est. Annual Quantity	Unit Price	Total
	Framing Lumber (S-P.F) 2" x 4" KD	Bd. Ft.	Bd. Ft.	3,000	\$0.94	\$2,820.00	Bd. Ft.	3,000		
2	Framing Lumber (S-P.F) 2" x 6" KD	Bd. Ft.	Bd. Ft.	2,000	\$0.91	\$1,820.00	Bd. Ft.	2,000		
3	Framing Lumber (S-P.F) 2" x 8" KD	Bd. Ft.	Bd. Ft.	1,500	\$0.87	\$1,305.00	Bd. Ft.	1,500		
4	Framing Lumber (S-P.F) 2" x 10" KD	Bd. Ft.	Bd. Ft.	1,500	\$0.84	\$1,260.00	Bd. Ft.	1,500		
5	Framing Lumber (S-P.F) 2" x 12" KD	Bd. Ft.	Bd. Ft.	2,000	\$1.07	\$2,140.00	Bd. Ft.	2,000		
6	Roofers (Pine) 1" x 6"	Bd. Ft.	Bd. Ft.	1,000	\$0.75	\$750.00	Bd. Ft.	1,000		
7	4" x 4" x 8' - Fir	Each.	Each.	20	\$18.65	\$373.00	Each.	20		
8	1" x 12", S4S, W.P. Sheathing	Bd. Ft.	Bd. Ft.	750	\$1.15	\$862.50	Bd. Ft.	750		
9	1" x 12" x 16', \$4\$ #2, Comm. White Pine	Bd. Ft.	Bd. Ft.	575	\$1.60	\$920.00	Bd. Ft.	575		
10	1" x 2", 4", 6", 8", 10", , S4S Clear, W.P. Boards	Bd. Ft.	Bd. Ft.	800	\$4.35	\$3,480.00	Bd. Ft.	800		
11	1" x 12", S4S Clear, W.P. Boards	Bd. Ft.	Bd. Ft.	200	\$4.45	\$890.00	Bd. Ft.	200		
12	W. P. Ranch Casing, Clear	Lineal Ft.	Lineal Ft.	100	\$0.85	\$85.00	Lineal Ft.	100		
13	W. P. Ranch Base, Clear	Lineal Ft.	Lineal Ft.	100	\$1.05	\$105.00	Lineal Ft.	100		
14	1" x 3" x 10', Spruce Furring	Each	Each	500	\$3.00	\$1,500.00	Each	500		
15	1 3/8" x 12', Lattice	Each	Each	50	\$0.59	\$29.50	Each	50		
16	1 ¾" x 12', Lattice	Each	Each	50	\$0.69	\$34.50	Each	50		
17	Flat Screen bead, ¼" x ¾"	Lineal Ft.	Lineal Ft.	500	\$0.35	\$175.00	Lineal Ft.	500		
18	%" x 4' x 8', ACX, Fir Plywood	Each	Each	60	\$46.75	\$2,805.00	Each	60		
19	1/4" x 4' x 8', ABX, Fir Plywood	Each	Each	13	\$28.65	\$372.45	Each	13		
20	½" x 4' x 8', ABX, Fir Plywood	Each	Each	15	\$34.75	\$521.25	Each	15		
21	%" x 4' x 8', ABX, Fir Plywood	Each	Each	25	\$46.75	\$1,168.75	Each	25		
22	%" x 4' x 8', CDX, Plywood Yellow Pine	Each	Each	10	\$34.49	\$344.90	Each	10		
23	½" x 4' x 8', CDX, Plywood Yellow Pine	Each	Each	10	\$27.49	\$274.90	Each	10		
24	1/2" x 4' x 8', ACX, Fir Plywood (Not Finished)	Each	Each	10	\$34.75	\$347.50	Each	10		
25	1/4" x 4' x 8', Tempered Masonite	Each	Each	10	\$18.99	\$189.90	Each	10		
26	1/8" x 4' x 8', Tempered Masonite	Each	Each	5	\$13.65	\$68.25	Each	5		
27	7/16" x 4' x 8', Aspenite Panel	Each	Each	10	\$17.25	\$172.50	Each	10		
28	5/8" x 4' x 8', Textured, 1-11, Fir Sound	Each	Each	15	\$43.29	\$649.35	Each	15		
29	5/8" x 4' x 9', Textured, 1-11, Fir Sound	Each	Each	10	\$55.20	\$552.00	Each	10		
30	5/8" x 4' x 9', Textured, 1-11, Yellow Pine Sound	Each	Each	10	\$55.20	\$552.00	Each	10		,
31	2" X 4" X 8', Pressure Treated Lumber #1	Bd. Ft.	Bd. Ft.	600	\$1.20	\$720.00	Bd. Ft.	600		
32	2" X 4" X 10', Pressure Treated Lumber #1	Bd. Ft.	Bd. Ft.	600	\$1.34	\$804.00	Bd. Ft.	600		
33	2" X 4" X 12', Pressure Treated Lumber #1	Bd. Ft.	Bd. Ft.	600	\$1.35	\$810.00	Bd. Ft.	600		
34	2" X 4" X 16', Pressure Treated Lumber #1	Bd. Ft.	Bd. Ft.	600	\$1.35	\$810.00	Bd. Ft.	600		
35	2" X 6" X 8', Pressure Treated Lumber #1	Bd. Ft.	Bd. Ft.	600	\$1.09	\$654.00	Bd. Ft.	600		
36	2" X 6" X 10', Pressure Treated Lumber #1	Bd. Ft.	Bd. Ft.	600	\$1.16	\$696.00	Bd. Ft.	600		
37	2" X 6" X 12', Pressure Treated Lumber #1	Bd. Ft.	Bd. Ft.	600	\$1.16	\$696.00	Bd. Ft.	600		
38	2" X 6" X 16', Pressure Treated Lumber #1	Bd. Ft.	Bd. Ft.	600	\$1.16	\$696.00	Bd. Ft.	600		
39	2" X 8" X 8', Pressure Treated Lumber #2	Bd. Ft.	Bd. Ft.	600	\$1.01	\$606.00	Bd. Ft.	600		
	2" X 8" X 10', Pressure Treated Lumber #2	Bd. Ft.	Bd. Ft.	600	\$1.01	\$606.00	Bd. Ft.	600		

41	2" X 8" X 12', Pressure Treated Lumber #2	Bd. Ft.	Bd. Ft.	600	\$1.02	\$612.00	Bd. Ft.	600	
42	2" X 8" X 16', Pressure Treated Lumber #2	Bd. Ft.	Bd. Ft.	600	\$1.01	\$606.00	Bd. Ft.	600	
43	2" X 10" X 8', Pressure Treated Lumber #2	Bd. Ft.	Bd. Ft.	600	\$0.88	\$528.00	Bd. Ft.	600	
44	2" X 10" X 10', Pressure Treated Lumber #2	Bd. Ft.	Bd. Ft.	600	\$0.96	\$576.00	Bd. Ft.	600	
45	2" X 10" X 12', Pressure Treated Lumber #2	Bd. Ft.	Bd. Ft.	600	\$0.97	\$582.00	Bd. Ft.	600	
46	2" X 10" X 16', Pressure Treated Lumber #2	Bd. Ft.	Bd. Ft.	600	\$0.93	\$558.00	Bd. Ft.	600	
47	4" X 4" X 8', Pressure Treated Lumber #1	Bd. Ft.	Bd. Ft.	1,100	\$1.07	\$1,177.00	Bd. Ft.	1,100	
48	4" X 4" X 10', Pressure Treated Lumber #2	Bd. Ft.	Bd. Ft.	1,100	\$0.88	\$968.00	Bd. Ft.	1,100	,
49	4" X 4" X 12', Pressure Treated Lumber #2	Bd. Ft.	Bd. Ft.	1,100	\$0.82	\$902.00	Bd. Ft.	1,100	
50	4" X 6" X 8', Pressure Treated Lumber #2	Bd. Ft.	Bd. Ft.	1,000	\$0.88	\$880.00	Bd. Ft.	1,000	
51	4" X 6" X 10', Pressure Treated Lumber #2	Bd. Ft.	Bd. Ft.	1,000	\$0.80	\$800.00	Bd. Ft.	1,000	
52	4" X 6" X 12', Pressure Treated Lumber #2	Bd. Ft.	Bd. Ft.	1,000	\$0.89	\$890.00	Bd. Ft.	1,000	
53	6" X 8" X 8', Pressure Treated Lumber #2	Bd. Ft.	Bd. Ft.	2,000	\$1.14	\$2,280.00	Bd. Ft.	2,000	
54	6" X 8" X 10', Pressure Treated Lumber #2	Bd. Ft.	Bd. Ft.	2,000	\$1.14	\$2,280.00	Bd. Ft.	2,000	
55	6" X 8" X 12', Pressure Treated Lumber #2	Bd. Ft.	Bd. Ft.	2,000	\$1.14	\$2,280.00	Bd. Ft.	2,000	
56	2" X 12" X 12', Pressure Treated Lumber #2 KDAT	Bd. Ft.	Bd. Ft.	1,000	\$1.16	\$1,160.00	Bd. Ft.	1,000	
57	2" X 12" X 16', Pressure Treated Lumber #2 KDAT	Bd. Ft.	Bd. Ft.	1,000	\$1.09	\$1,090.00	Bd. Ft.	1,000	
58	6" X 6" X 8', Pressure Treated Lumber #2	Bd. Ft.	Bd. Ft.	1,000	\$0.90	\$900.00	Bd. Ft.	1,000	
59	6" X 6" X 10', Pressure Treated Lumber #2	Bd. Ft.	Bd. Ft.	1,000	\$0.90	\$900.00	Bd. Ft.	1,000	
60	6" X 6" X 12', Pressure Treated Lumber #2	Bd. Ft.	Bd. Ft.	1,000	\$0.87	\$870.00	Bd. Ft.	1,000	
61	1/8" x 4' x 8', Duron Board	Each	Each	10	\$16.80	\$168.00	Each	10	
62	1/2" x 4' x 8', Duron Board	Each	Each	10	\$18.95	\$189.50	Each	10	

GROUP A GRAND TOTAL

\$54,862.75

NO BID THIS SECTION

GROU	UP B				BELKNAP LUMBER				CORE BUILDING	
Item #	Description	Unit Listed on Bid	Belknap Bid Unit	Est. Annual Quantity	Unit Price	Total	Core Bid Unit	Est. Annual Quantity	Unit Price	Total
1	6 D, Common Nails, American Made	50 Lb. Box	50 Lb. Box	2	\$59.99	\$119.98	50 Lb. Box	2		
2	8 D, Common Nails, American Made	50 Lb. Box	50 Lb. Box	3	\$59.99	\$179.97	50 Lb. Box	3		
3	10 D, Common Nails, American Made	50 Lb. Box	50 Lb. Box	4	\$59.99	\$239.96	50 Lb. Box	4		
4	16 D, Common Nails, American Made	50 Lb. Box	50 Lb. Box	5	\$59.99	\$299.95	50 Lb. Box	5		
5	8cc, Box Nails, American Made	50 Lb. Box	50 Lb. Box	4	\$80.99	\$323.96	50 Lb. Box	4		
6	10cc, Box Nails, American Made	50 Lb. Box	50 Lb. Box	3	\$80.99	\$242.97	50 Lb. Box	3		
7	12cc, Box Nails, American Made	50 Lb. Box	50 Lb. Box	4	\$112.99	\$451.96	50 Lb. Box	4		
8	4 D, Finishing Nails, American Made	50 Lb. Box	50 Lb. Box	1	\$73.99	\$73.99	50 Lb. Box	1		
9	6 D, Finishing Nails, American Made	50 Lb. Box	50 Lb. Box	1	\$73.99	\$73.99	50 Lb. Box	1		
10	8 D, Finishing Nails, American Made	50 Lb. Box	50 Lb. Box	1	\$73.99	\$73.99	50 Lb. Box	1		
11	#6 Galvanized Nails, American Made	50 Lb. Box	50 Lb. Box	2	\$96.99	\$193.98	50 Lb. Box	2		
12	#8 Galvanized Nails, American Made	50 Lb. Box	50 Lb. Box	2	\$96.99	\$193.98	50 Lb. Box	2		
13	#10 Galvanized Nails, American Made	50 Lb. Box	50 Lb. Box	2	\$96.99	\$193.98	50 Lb. Box	2		

GROUP B GRAND TOTAL

50 Lb. Box

50 Lb. Box

50 Lb. Box

50 Lb. Box

\$3,147.61

\$96.99

\$193.98

\$290.97

50 Lb. Box

50 Lb. Box

NO BID THIS SECTION

GRO	UP C		BELKNAP LUMBER				CORE BUILDING			
Item #	Description	Unit Listed on Bid	Belknap Bid Unit	Est. Annual Quantity	Unit Price	Total	Core Bid Unit	Est. Annual Quantity	Unit Price	Total
1	1" Galvanized Roofing Nails, American Made	50 Lb. Box	50 Lb. Box	2	\$61.09	\$122.18	50 Lb. Box	2		
2	1 ¾" Galvanized Roofing Nails, American Made	1 Lb. Box	1 Lb. Box	15	\$2.49	\$37.35	l Lb. Box	15		
3	90 Lb., Roll Roofing	Roll	Roll	8	\$43.75	\$350,00	Roll	8		
4	Fiberglass Shingles, 215 Lb.	Square	Square	10	\$81.50	\$815.00	Square	10		
5	5 Gal. Asphalt Roof Coating	Each	Each	20	\$42.50	\$850.00	Each	20		
6	1 Gal. Elastic Roof Cement	Each	Each	10	\$13.99	\$139.90	Each	10		

2

3

GROUP C GRAND TOTAL

\$2,314.43

NO BID THIS SECTION

GROUP D

14

#12 Galvanized Nails, American Made

#16 Galvanized Nails, American Made

BELKNAP LUMBER CORE BUILDING

Item #	Description	Unit Listed on Bid	Belknap Bid Unit	Est. Annual Quantity	Unit Price	Total	Core Bid Unit	Est. Annual Quantity	Unit Price	Total
1	Concrete Mix, Sakrete	80 Lb. Bag	80 Lb. Bag	10	\$4.60	\$46.00	80 Lb. Bag	10	\$4.85	\$48.50
2	Sand Mix, Sakrete	80 Lb. Bag	80 Lb. Bag	10	\$4.80	\$48,00	80 Lb. Bag	10	\$5.25	\$52.50
3	Mortar Mix, Allentown, Type N	80 Lb. Bag	80 Lb. Bag	10	\$4.95	\$49,50	80 Lb. Bag	10	\$5.50	\$55.00
4	Portland, Allentown, Type S	80 Lb. Bag	80 Lb. Bag	15	\$7.30	\$109.50	80 Lb. Bag	15	\$5.75	\$86.25
5	Mortar Sand, Mason Sand	80 Lb. Bag	80 Lb. Bag	5			80 Lb. Bag	5		
6	Hydraulic Cement, Water Plug	1 Gal. Can	1 Gal. Can	12	\$14.50	\$174.00	1 Gal. Can	12	\$16.00	\$192.00
7	Patching Cement, Thoro Seal	50 Lb. Bag	50 Lb. Bag	20	-		50 Lb. Bag	20	\$32.00	\$640.00
8	Patching Cement, Acrylic 60	Gallon	Gallon	20	\$14.50	\$290.00	Gallon	20	\$20.00	\$400.00
9	Patching Cement, Sono Patch 200	40 Lb. Bag	40 Lb. Bag	20			40 Lb. Bag	20		
10	Limestone Caulk	16 oz. Tube	16 oz. Tube	24			16 oz. Tube	24	\$5.00	\$120.00
11	Stucco, Thoro	40 Lb. Bag	40 Lb. Bag	5			40 Lb. Bag	5	\$23.00	\$115.00
12	Fast Setting Concrete, High Strength, Sakrete	50 Lb. Bag	50 Lb. Bag	30			50 Lb. Bag	30	\$8.00	\$240.00

GROUP D GRAND TOTAL

\$717.00

\$1,949.25

GROU	JP E				BELKNAP LUMBER				CORE BUILDING	
Item #	Description	Unit Listed on Bid	Belknap Bid Unit	Est. Annual Quantity	Unit Price	Total	Core Bid Unit	Est. Annual Quantity	Unit Price	Total
1	2' x 4' Ceiling Tiles	10/Carton	10/Carton	20	\$64.75	\$1,295.00	10/Carton	20	\$37.65	\$753.00
2	12' Fireguard Main Tees	20/Carton	20/Carton	5	\$208.00	\$1,040.00	20/Carton	5	\$146.00	\$730.00
3	4' Fireguard Cross Tees	60/Carton	60/Carton	5	\$210.00	\$1,050.00	60/Carton	5	\$144.00	\$720.00
4	10' Fireguard Wall Angle	30/Carton	30/Carton	5	\$232.50	\$1,162.50	12' - 40/Carton	5	4.75 / 190.00	\$950.00
5	6 Ceiling Hanger Wire – 12'	100/Bundle	100/Bundle	2	\$141.00	\$282.00	120/Bundle	2	\$65.00	\$130.00
6	2' x 2' Ceiling Panel	Each	Each	10	\$6.24	\$62.40	Each / 16/Ctn	10	2.35 / 37.65	\$23.50
7	2' x 4' Egg Crate Ceiling Panel	Each	Each	10	\$13,25	\$132.50	Each	10		

GROUP E GRAND TOTAL

\$5,024.40

\$3,306.50

GROU	UP F				BELKNAP LUMBER				CORE BUILDING	
Item #	Description	Unit Listed on Bid	Belknap Bid Unit	Est. Annual Quantity	Unit Price	Total	Core Bid Unit	Est. Annual Quantity	Unit Price	Total
1	3 ½" x 16", Kraft Faced Fiberglass Roll Insulation	88' Roll	Ft / 126' Roll	30	0.35 / 44.10	\$1,323.00	Ft / 155' Roll	30	0.23 / 35.65	\$606.05
2	6" x 16", Kraft Faced Fiberglass Roll Insulation	49' Roll	Ft / 77.5' Roll	40	0.62 / 48.05	\$1,922.00	Ft / 97.92' Roll	40	0.345/33.80	\$676.00
3	3 ½" x 24", Kraft Faced Fiberglass Roll Insulation	135' Roll	Ft / 193' Roll	20	0.35 / 67.55	\$1,351.00	Ft/256' Roll	20	0.23 / 58.90	\$647.90
4	6" x 24", Kraft Faced Fiberglass Roll Insulation	75' Roll	Ft/119'Roll	30	0.63 / 74.97	\$2,249.10	Ft / 128' Roll	30	0.344 / 44.15	\$794.70
5	3 1/2" x 16", Kraft Unfaced Fiberglass Roll Insulation	88' Roll	Ft / 126' Roll	30	0.33 / 41.58	\$1,247.40	Ft / 170.67' Roll	30	0.21 / 35.85	\$573.60
6	6" x 16", Kraft Unfaced Fiberglass Roll Insulation	49' Roll	Ft / 77.5' Roll	40	0.53 / 41.08	\$1,643.20	Ft / 106.67' Roll	40	0.32/34.15	\$648.85
7	3 ½" x 24", Kraft Unfaced Fiberglass Roll Insulation	135' Roll	Ft / 208' Roll	20	0.32 / 66.56	\$1,331.20	Ft / 256' Roll	20	0.21/53.75	\$591.25
8	6" x 24", Kraft Unfaced Fiberglass Roll Insulation	75' Roll	Ft/118' Roll	30	0.625 / 73.75	\$2,212.50	Ft / 144' Roll	30	0.32 / 46.10	\$737.60

GROUP F GRAND TOTAL

\$13,279.40

\$5,275.95

GROU	UP G				BELKNAP LUMBER				CORE BUILDING	
Item #	Description	Unit Listed on Bid	Belknap Bid Unit	Est. Annual Quantity	Unit Price	Total	Core Bid Unit	Est. Annual Quantity	Unit Price	Total
1	5/8" x 4' x 8', Sheetrock	Each	Each	45	\$12.75	\$573.75	Each	45	\$11.85	\$533.25
2	5/8" x 4' x 10', Sheetrock	Each	Each	10	\$15.60	\$156.00	Each	10	\$14.80	\$148.00
3	5/8" x 4' x 12', Sheetrock	Each	Each	10	\$18.70	\$187.00	Each	10	\$17.75	\$177.50
4	5/8" x 4' x 8', Firestop Sheetrock	Each	Each	10	\$12.50	\$125.00	Each	10	\$11.85	\$118.50
5	5/8" x 4' x 8', Greenboard	Each	Each	15	\$14.50	\$217.50	Each	15	\$14.25	\$213.75
6	Pre-mix Joint Compound, 5 Gallon pail	Each	Each	10	\$17.95	\$179.50	Each	10	\$16.50	\$165.00
7	Joint Compound, USG, Pre-mixed	5 Gal. Pail	5 Gal. Pail	10	\$17.95	\$179.50	5 Gal. Pail	10	\$16.50	\$165.00
8	8' Drywall Corner Bead	Each	Each	30	\$3.40	\$102.00	Each	.30	\$1.20	\$36.00
9	1 5/8", Drywall Nails, American Made	Pound	Pound	15	\$3.49	\$52.35	Pound	15		
10	Dry Wall Screws, 1 1/4"	Each	Pound	8000 / 13	\$4.49	\$58.37	Each / Pound	8,000	0.01 / 1.79	\$50,12
11	Dry Wall Screws, 1 5/8"	Each	Pound	5000 / 10	\$4.49	\$44.90	Each / Pound	5,000	0.01/2.10	\$44.10
12	Dry Wall Screws, 2"	Each	Pound	3500 / 10	\$4.49	\$44.90	Each / Pound	3,500	0.01/2.07	\$38.09
13	Dry Wall Screws, 2 1/2"	Each	Pound	2500 / 50	\$4.49	\$44.90	Each / Pound	2,500	0.02 / 2.00	\$44.00
14	Dry Wall Screws, 3"	Each	Pound	2000/9	\$4.49	\$40.41	Each / Pound	2,000	0.02/2.09	\$45.98
15	Dry Wall Screws, 3 1/2"	Each	Pound	1000/8	\$4.49	\$35.92	Each	1,000		
16	Joint Tap Paper	Lin. Ft.	Ft/Rolls	250 / 1	\$8.99	\$8.99	Lin. Ft.	250	\$0.01	\$2.50

GROUP G GRAND TOTAL

\$2,050.99

\$1,781.79

GROUP H BELKNAP CORE LUMBER BUILDING

Item #	Description	Unit Listed on Bid	Belknap Bid Unit	Est. Annual Quantity	Unit Price	Total	Core Bid Unit	Est. Annual Quantity	Unit Price	Total
1	1-5/8" x 10' Metal Stud, 20ga	10/Bundle	10/Bundle	10	\$39.50	\$395.00	10/Bundle	10	\$34.50	\$345.00
2	2-1/2" x 10' Metal Stud, 20ga	10/Bundle	10/Bundle	10	\$48.25	\$482.50	10/Bundle	10	\$42.00	\$420.00
3	3-1/2" x 10' Metal Stud, 20ga	10/Bundle	10/Bundle	10			10/Bundle	10		
4	3-5/8" x 10' Metal Stud, 20ga	10/Bundle	10/Bundle	10	\$55.65	\$556.50	10/Bundle	10	\$49.00	\$490.00
5	6" x 10' Metal Stud, 20ga	10/Bundle	10/Bundle	10	\$83.75	\$837.50	10/Bundle	10	\$74.00	\$740.00
6	1-5/8" x 10' Metal Track, 20ga	10/Bundle	10/Bundle	10	\$39.40	\$394.00	10/Bundle	10	\$34.50	\$345.00
7	2-1/2" x 10' Metal Track, 20ga	10/Bundle	10/Bundle	10	\$48.15	\$481.50	10/Bundle	10	\$42.00	\$420.00
8	3-1/2" x 10' Metal Track, 20ga	10/Bundle	10/Bundle	10			10/Bundle	10		
9	3-5/8" x 10' Metal Track, 20ga	10/Bundle	10/Bundle	10	\$55.65	\$556.50	10/Bundle	10	\$49.00	\$490.00
10	6" x 10' Metal Stud, 20ga	10/Bundle	10/Bundle	10	\$83.75	\$837.50	10/Bundle	10	\$74.00	\$740.00

GROUP H GRAND TOTAL \$4,541.00 \$3,990.00

MISCELLANEOUS ITEMS BELOW

GRO	UP MISC				BELKNAP LUMBER				CORE BUILDING	
Item #	Description	Unit Listed on Bid	Belknap Bid Unit	Est. Annual Quantity	Unit Price	Total	Core Bid Unit	Est. Annual Quantity	Unit Price	Total
1	1/2", J Channel - 12' White / Vinyl	Foot	Foot	1,000	\$0.57	\$570.00	Foot	1,000		
2	5/8", J Channel – 12' White / Vinyl	Foot	Foot	1,000	\$0,61	\$610.00	Foot	1,000		
3	16 x 100 x 4, Mil Polyethylene	Roll	Roll	1	\$61.99	\$61.99	Roll	1 ,		
4	KV, #255, 2C, Shelf Standards, 3' 0"	Each	Each	25	\$1.79	\$44.75	Each	25		
5	KV, #256, 2C, Shelf Clips	Each	Each	1,000	\$0.33	\$330.00	Each	1,000		
6	Tite Bond Yellow Glue	Quarts	Quarts	3	\$13.99	\$41.97	Quarts	3		
7	4" X 4" Teco Post Bases	Each	Each	20	\$13.99	\$279.80	Each	20		
8	1" Styrofoam, 4' x 8'	Each	Each	15	\$22.25	\$333.75	Each	15	\$18.40	\$276.00
9	1 ½", Styrofoam, 4' x 8'	Each	Each	5	\$32.40	\$162.00	Each	5	\$27.50	\$137.50
10	2", Styrofoam, 4' х 8'	Each	Each	15	\$41.95	\$629.25	Each	15	\$36.80	\$552.00
11	1 Gal. Contact Cement – Non-flammable	Gallon	Gallon	5	\$74.50	\$372.50	Gallon	5		
12	Plastic Laminate – Pattern Colors	Sq. Ft.	Sq. Ft.	384	\$4.40	\$1,689.60	Sq. Ft.	384		

BIDDERS WILL OFFER A MARKUP OVER COST FOR ALL ITEMS NOT LISTED ABOVE:

20.0%

40.0%